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SHEAMERR &t 6,000/ 6,000 5400 6,000 6,000| 5400
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GE) B KB EELUNORFEMRIZ. EEHNEFTHD,




HooRF M F

2
&
_

BOE R BT & B OH

Gutho A0 4N R 4.4km)
1 ORI
(1) M Z RS DT X FEOLT BT EEH
(2) sk > L OB BT FEHE6 75 7 &M
(3) M 55K 134 /5

2 INSRHISE R D FE A 2 L 22 & 2 A

LML, oFo#NE2 4. 3 kmBn/-& ZACHD ., THEROVOAEH
OFREICSETI2HEETH D, Fiz, EEETH LHMELOTHEITEE N LAk
SETHDALBRWRITNZEZ D, 512, ZOHIL, EEb (b h3 1 2 HusyE /1 O T 28
SNy (AP

LoT, ZTOHIEIZHOWTIX, ME L OTHE DO 217V, LHIOMEE & sk oTE M
b% X5 BN H D,

3 I FER R R OB A F 1

SR 2HEENLS 6 EEET 5 [
(AL FH)
X 43 g g M R N fﬁ&hﬂjﬁg 5 Bgﬂﬁ
T —— W B | Bt R SR EE DO T ER
7S] B oA T 22, 000 0 22,000 22, 000
GipLal I 22, 000 0 22, 000 22, 000
a &t 44, 000 0 44, 000 44, 000




A E R BMEE X
wmEE B X m = i #hig (A0 74 A HEE 44 km)
=N BB OB [BE{IEERE| (1)
X %) () kn (M) kn =) RO fim =
ER X (X /\R{E B 1.80 0.20 9.00 9 ZHAO
A 1.80 0.17 10.59
VAN B 9.35 0.33 28.33 B THILE H /N
it 11.15 38.92 39
A 1.80 0.33 5.45
2R B 8.15 0.67 12.16 B THILS A h s
it 9.95 17.61 18
A 1.80 1.00 1.80
2 % ¥ & (B 7.40 2.00 3.70 BERILNDEHFSFIR
&t 9.20 5.50 6
A 0.25 -
FEHREBFEKR|B 0.50 -
it 0.00 0.00 0
A 1.80 0.17 10.59
E & #% B |B 1.05 0.33 3.18 TERER
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X %
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R4 #v*fft #v*fft #v*fft #v*fft #v*fft #v*fft
P 5 5 | MR 5 % | BiRE 5 % | BiRE 5 % | BiR 5 5 | B 5 % | BiR
i
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SR 2HEENLSF 6 EEET 5 4[]

(Hpr TH)

X 43 g g MR N gﬁ&u/gﬁﬁg 5 Bgﬂﬁ
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(BEEM) Bo# B o H OB OB OFR R OB OF O B (fir: F)
- & M o2 H E & M 3 F E & M o4 F E & M 5 F E & M 6 F E & B
z B R W i B R W i B R A B R W i B R W R B R W R
X %
h ES —HRBAR ES —HRBAR ES —HRBAR —HRBAR —HRBAR —HRBAR
— FRR we |FRN we |FRN we |FRN we |FRN we |FRN wiE
£ 5 % | MR 5 % | MR 5 % | MR 5 % | MR 5 % | MR 5 % | MR
12 th 15 12 th 15 12 th 15 12 th 15 12 th 15 12 th 15
i
. FAREEEF RFIER 9,000/ 9,000[ 9,000 9,000, 9,000[ 9,000 9,000, 9,000[ 9,000 9,000, 9,000[ 9,000 9,000/ 9,000[ 9,000 45,000 45,000 45,000
R | BAZ%(L=1000m W=3.5m)
i
F | BREEEGHRR 10,000| 10,000[ 10,000 10,000| 10,000[ 10,000 10,000| 10,000[ 10,000 30,000 30,000| 30,000
% B (L=800m W=3.5m)
i
FHREEERMIRR 10,000| 10,000[ 10,000 10,000| 10,000[ 10,000 10,000{ 10,000[ 10,000 30,000 30,000] 30,000
£H%E (L=1200m W=3.5m)
FHREEEAKBEIR 10,000| 10,000[ 10,000 3,000 3000[ 3000 3,000 3000[ 3000 3,000 3000[ 3000 19,000] 19,000[ 19,000
%R (L=120m W=4.0m)
" e
HHEEBEA LR 7,000 7,000 7,000 7,000 7,000 7,000
&% (L=164m W=4.0m)
FHEEE i 19,000| 19,000[ 19,000 29,000 29,000| 29,000 32,000 32,000 32,000 22,000 22,000 22,000 29,000 29,000] 29,000 131,000| 131,000{ 131,000
X
SHBARERY
B KK B E 6,000 6,000] 5,400 6,000 6,000 5,400
B [ somh 1%
e SHBAREER &t 6,000 6,000] 5,400 6,000 6,000] 5,400
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